CRF = Interest Rate * [(1+Interest Rate)*Service Life)]/[(1+Interest Rate)”Service Life) - 1]

~ARF = [(PDOg,c*PDOpge) +(INJg/c *INJ ape)+(FAT g c *FAT pge) I/ [PDOgyc+INJg c+FATg ]

B/C = [WT PDO * PDO Cost * PDOpge+ WT INJ * INJ Cost * INJge + WT FAT * FAT Cost * FAT ¢l / [(Cost Estimate * CRF) + AMC]
PE (15%) = Cost Estimate * .15

Construction (85%) = Cost Estimate - PE (15%)

WT PDOyge = PDOgc / Year Factor

WT INJyge = INJg,c / Year Factor

WT FAT\gr = FATg/c / Year Factor

WT PDOpprer =

WT INJpprar =

WT FAT porer =
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